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— Equation of a Circle

Graph each circle and label its center and radius.

Example: (x —2)2 + (y +5)2 = 4
center (2,-5)
radius = 2 A
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Graph each circle and label its center and radius.
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4 (x -7+ (y-2)?%=25

centtr ( 7,2)
rodivs = 5
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center (h,k)

Example: (x —2)2 + (y — 3)2 = 25
center (2, 3)
radius = 5

2.x2+(y—-7)2=49
cenkr (0,7)
raa/dzs =7

4. (x +3)2+ (y +11)2=15
Centr (- 3 1)
A ra

Example: (0,4),r =9
(x =0)2+ (y-4)2=81
x2+ (y—-4)2 =81

2.(-2,3),r=2

(WZ)Z+/7—2)":}/

4.(12,9),r =1

(x-12)* f/y—?)“/

eneral equation: (x — h)2 + (y — k)2 = 7?2

Given the equation for a circle, identify its center and its radius.

1L (x—4)2+ (y +10)2 = 144

centor (4,-10)
ﬂ%/j /2

3.x2+y%=1

ceakr (90)
radds = /

5.(x—15)2+ 32 =10
centtr (/5; 0)
/ﬁ%;/} =4/ /0

Given the center and the radius of a circle, write the equation describing the circle.

1. (0,0),r =8
12#‘72 =4y

3.(-7,-18),r = 14
(2t D* & /7f/3) )2

5. (10,0),7 = 22
(x-10)* *9‘ 98y
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General equation: (x — h)? + (y — k)? =72

center (h,k)

Given the equation for a circle, identify its center and its radius.

Example: (x —2)2 + (v — 3)2 = 25 1. (x —4)%2 + (y +10)2 = 144
center (2, 3)
radius = 5 centtr ( 4, /0 )
ﬂ%/.j /2
2. x2+(y—-7)2=49 3.x2+y2=1
C(ﬂé/‘ (0,7) (e/]é/' [ﬂ’ 0)
radiys = 7 radJs = )
4. (x +3)2+ (y+11)2 =15 5. (x —15)2 + %2 =10
Centlr (-3 1) cenkr (75,0 )
/
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e — radiJs = )
4, (x +3)%2+ (y+11)2 =15 5. (x —15)2+ y2 =10

Centr (- 3 1) cenktr (15,0)

rafis = radis = /70
Given the cénter and the radius of a circle, write the equation describing the circle.
Example: (0,4),1’2= 9 , 1. (0,0),r =8

Catyaros ¥4yt =64

2. (-2,3),r=2 3. (-7,-18),r = 14

(42 ly-5)*=5 (A7) F (9+8) "= /96
4. (12,9),r =1 5. (10,0),r = 22

(x-/2)* Hj—?)’ =/ o (x-r0)? %3’ =Ygy
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AN SWE(Rs following, graph each circle by first completing the square.
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For the following, graph each circle by first completing the square.
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3) x“+y* —2x+4y=—1 A 4) 2 +y2 +4x+2y=4
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